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Just as sacred items are prohibited, - 2>710K 2w WYL AR MNOR WIP 7N
so too the forbidden actions of Shabbos are prohibited

Overview
The 7710 writes! 131 DAY N 722900 @5 X0 WP °5 NAwR DX an nw). We derive from
the word w7p that just as w7p is 70X so too NAW Awy» are 2°71OX. However, the word
0o teaches us that naw nwyn (even though they are 79°5%2 2> 0K, nevertheless they)
are 7IX172 2°7Mn, not like w7 which is X172 70X, Our MdOIN explains the need for
both mwA7.

nooIN asks

— 212191 Y5 YN KU $9PONT NayTd NINY DY N9 W1P KY 2)N9%Y XYY 91NN ON)
And if you will say; and the 7710 should not write neither w7 (to teach us 70X
77°9R), nor 2s% (to teach us X317 7n°7), and I would still know that naw nwyn are
79°382 @eR (but not 7X172) from the 0D of 7apIn %o o280 X (do not eat any

abomination), which is expounded to mean -
— “anm 923 NP 9 379 SMaynY Y5

Whatever I made an abomination for you, it is not to be eaten —

N1D0IN answers:
— S IDIAN NININ NN ONNN INT 9995 v

And one can say; that if we would derive the 72°0X 710°X from there ( 55 2oXn X

7231n) we may have assumed that it applies even if the 771989 was done axwa -
NV NDY 79 909%9N 719192 19 61P59NnY 1991509 NID ANMNIY TPIVNN Ny

Therefore, it was necessary to write the 79°0% 710°X here and to position it next to
the continuation of the verse nny mn ¥9ma (those who desecrate the naw will be
put to death), teaching us, I ('77) told you that it is forbidden to be eaten, only if the

U, %5 (Xwn) ninw.
23,7 (7%7) o127
3 This can apply to doing work on naw (for it is an abomination; the 710 forbade it), and we are admonished not to
eat this 72y1n. However, there is no indication that we may not derive benefit from it (see “Thinking it over’ # 1). We
could therefore know the 7%°3% M0°X by naw nwyn (and the 7817 0°7) from 7avIn 95 9aRn &2; why do we need the
2’09 of 037 X7 WP *2?
49,70 .
5 The 7™M writes 7ayN 93 9380 XY; it does not distinguish between 3w or . We would have assumed that the
prohibition of 2580 X% applies to both 711 and »w.
6 See ‘Overview’.
" There is no death penalty for 3w, only for Tm.
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70897 was done 7122, but not if it was done azna.

Summary
The 7998 M0°X is derived from w7p, which is written next to °%nn, to inform us

that it applies only to 7°7 but not to A1w.

Thinking it over

1. mpoIn writes that we could know the 79°98 10°K from 72vn 92 HORD XY, and
presumably there is no X317 0K since it (only) states 2a8n &2.2 However, the X713
there in P21 (regarding 25m2 w2) derives from this 758N X7 that it includes MO
X317 as well (following the ruling of 172X ™), so how can Mmdon ask that we can
derive it from 928N X9, since then it would be X172 7oK as well?!°

2. In conclusion, do we derive the 777°2X 710°X (also) from 2280 X, and the N1>710 to
79onn excludes AW, or do we derive it exclusively from X771 wTp °3 (that it is only
7122) and 027 permits it IXI72?

8 See footnote # 3.
9 See 7IM9NT WON XN,
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